AEAFE EH A A
20239 204 SAI UL IS2ESE3H
fr 200 MIQl==g
b 210 SN2
St 216 O|Ab=~2 crol: XM
Ol &F o SEE0f AreY ns
4,057,000 4,057,000 0
200 NIQl= 57,000 57,000 0
210 ZEHA = 57,000 57,000 0
216 OlAt==g 57,000 57,000 0
216-01 S30IS0Ikt== 57,000 57,000 0
< ZHWSDH > 57,000 57,000 0
2302 0lX==¢ 57,000,000 57,000
700 2EHUSHHEHN 4,000,000 4,000,000 0
710 B82S 3,000,000 3,000,000 0
M 2= 3,000,000 3,000,000 0
711-01 =AMIAL = 3,000,000 3,000,000 0
< ZHwSDt > 3,000,000 3,000,000 0
OZ=MAHYH= 3,000,000,000& 3,000,000
720 LA HeH 1,000,000 1,000,000 0
721 Y= 1,000,000 1,000,000 0
721-03 JIEISIAHIEY S 1,000,000 1,000,000 0
< ZHwSDt > 1,000,000 1,000,000 0
Ogets|H M3 1,000,000,000&! 1,000,000
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20234 20& AHASHX EHSESIA

200 Alel==
210 BNl
2

9 1§ 0

16 O] At==9! (Crel ®2l)
g.a.8.5 Ol &F o S E 0 Ak HwE2

& Al 210,900 97,000 113,900

200 MI2l==2) 1,000 1,000 0

210 ZEHA = 1,000 1,000 0

216 OlKr==2) 1,000 1,000 0

216-01 33001t 1,000 1,000 0

< BHwsSot > 1,000 1,000 0
=303 0lk= 1,000,000& 1,000

700 2EHUSHHEHN 209,900 96,000 113,900

710 EXS 2,000 2,000 0

711 2= 2,000 2,000 0

711-01 =MAHL W= 2,000 2,000 0

< ZHRSH > 2,000 2,000 0
O=AALHS 2,000,000 2,000

720 LHSHeH 207,900 94,000 113,900

721 = 207,900 94,000 113,900

721-03 JIEISIAHIEY S 207,900 94,000 113,900

< ZHRSH > 207,900 94,000 113,900
Ogets|H M3 207,900,0002! 207,900
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